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Model Test 1

Part | Listening Comprehension (20 minutes)
Section A
Directions: In this section, you will hear 10 short conversations. At the end of each conversation, a question
will he asked about what was said. The conversation and the question will he spoken only once. A fter each
question there will be a pause. During the pause. you must read the four choices marked A, B). () and
D), and decide which is the best answer. Then mark the corresponding letier on the Answer Sheet with a
single line through the centre,
Example; You will hear:

You will read: A) At the office. C) At the airport.

B) In the waiting room. D) In a restaurant,

From the conversation we know that the two were talking about some work they had to finish in the
evening. This is most likely to have taken place at the of fice. Therefore. A) “At the office”™ is the best
answer. You should choose [A] on the Answer Sheet and mark it with a single line through the centre.

Sample Answer FAS[B][CJI D]
1. A) He likes biology enough 10 continue with it,

B) His grades in science courses are very good.

() He hasn't taken encugh courses in biology.

D) He doesn’t want to take any more science courses,

2. A) Rice should be served with the chicken,

B) The dishes here are never spicy.

() There really is chicken in the salad.

D) Both the chicken dish and the salad taste spicy.

3. A) 6.0, B) 7.45. ) 7. 15, 1) 615,
4, A) He thinks she bought something for her aunt.

B) He thinks she might have been to Spencer’s.

() He thinks she was there only briefly.

1)) He thinks she went 10 a sale on her way to the hospital.

3. A) They work at the zoo. B) They are going to do some artwork.
() They enjoy watching elephants, D) They are going to feed the elephants,
6. A) She's working hard all the time. B) She's out all the time,
(©) She works every other day. D) She studies twice a day.
7. A) Helping a friend find the right department, B) Buying himself some shoes,
() Taking a class at the gymnasium. D) Returning a jogging suit he bought.
8. A) Apologize to Donna. B) Confront Donna directly.
() Excuse Donna's behavior. D) Write Donna a letter,
9., A) She doesn't say. B) Some cigarettes.
C) Some colourful dresses. D) White shirts and cigarettes,
10. A) She’s putting it in a kennel, B) Ken is taking it on vacation.
) It will accompany her., D) It will be staying with Ken,
Section B

Directions: In this sections you will hear 3 short passages. Al the end of each passage. you will hear some
questions. Both the passage and the questions will be spoken only once. A fter you hear a question s you must

choose the best answer from the four choices marked A) s 13), C) and D). Then mark the corresponding letter

| 1591 |3pO
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on the Answer Sheet with a single line through the centre,

Passage One
Questions 11 to 13 are based on the passage you have just heard,
11, A) Energy conservation, B) Transportation of the future.
) Strip cities, D) Advantages of air transportation over railroads.

12, A) Tt uses nuclear energy.
13) Tt rests on a cushion of pressurized air.
) It flies over magnetically activated tracks.
1) It uses a device similar to a jet engine.
13, A) It is more com{ortable than a conventional train,
B) Tt doesn’t require very much track maintenance.
) Tt doesn’t remain in any station very long.
1) Tt carries more passengers than a conventional train,
Passage Two
Questions 14 to 16 are based on the passage you have just heard.
11, A) A small restaurant, B) A revolutionary army,
() A famous commander. D) A historic tree,
15, A) Tt was the oldest one in the park.
13 Tt was less than a hundred years old.
) Tt was much younger than people had thought,
1)) Tt was impossible to determine,
16. A) George Washington was an extremely tall person,
B) Most trees in parks are destroyed by insects,
() Historical stories are sometimes inaccurate,

1) The Continental Army celebrated a victory in Cambridge.

Passage Three
Questions 17 to 20 are based on the passage you have Jjust heard,
17. A) She works for a museum. B) She’s a Lincoln scholar.

) She does it as a hobby. D) She teaches a course on currency exchange,
18. A) They identify the city where the penny was minted.

B) They are the initials of a famous coin collector,
) They stand for the government agency that mints coins,
D) They are the initials of the person who created the penny’s design.

19. A> All of her friends collected them. . B) Pennies were cheap to collect.
C) Someone gave her a rare penny. D) She needed the money,
20. A) Trade coins the club members. B) Show the audience her coins,
) Explain how the penny is minted. D) Discuss the life of Lincoln. i
Part [ Vocabulary and Structure (20 minutes)

Directions: There are 30 incomplete sentences in ‘this part. For each sentence there are four choices marked
A B, O) and D). Choose the ONE answer that best completes the sentence.
letter on the Answer Sheet with a single line through the centre,
21. Before the child went to bed, the father asked him to __ all the toys he had taken our,
ﬁ) put off B) put up E) put away D) put out
22, He was so in rending the novel that he knew nothing about what was going on about him.
A) bent B) focused C) absorbed

Then mark the corresponding

Q) concentrated
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23. The monument was constructed in honor of the scientist who was believed  lightening arrestor.
A) to invent B) to have been invented
2 1o have invented D) having been invented
24. Tt was essential that all the necessary documents to the president’s office before the end of this
month.
A) be handed in B) must be handed in
. ) should hand in 1)) had been handed in
25 You have greatly  me. What you have done falls far below my expectations.
. A) depressed B) disgusted C) despaired D) disappointed =
QG. Any nation that interferes in the internal affairs of another nation should be universally 8_
N blamed (E;) reproached ) scolded D) condemned 2
27, After a carelul inspection the manager came to the conclusion that only two-thirds of the available §
machinery  efficiently. it
A) were to be used B) was using
(.1 were being used Q/Was being used
28. Whenever T met her, _ was fairly often, T liked her sweet and hopeful smile. 3
A) it B) which C) that D) what
29. There was a __ growth of the light industries during the war,
A considerable BB) considering C) considerate D) considered
30, Jack and Jane  every few weeks, but their quarrels never last.
{\/ fall out B) fall behind C) {all through D) fall back on
31. Mary was reading a piece of science fiction, g(;mpletely __to the outside world.
A) lost ~ B) having lost C) losing D) being lost
32. Hetook her  aclose friend, so he spoke to her so familiarly.
A) for B) in O to D) on
33. Having no money but ___ to know, he simply said he would go without dinner.
A) not to want anyofle B) wanted no one
() not wanting anyonc D) to want no one
34. Nuclear science should be developed to benefit the people  harm them,
A) more than B3 other than C) better than D) rather than
35, Qur living room is covered witha _ carpet.
"A) green, beautiful, Chinese .B) Chinese, beautiful, green
O beautiful, green, Chinese D) beautiful, Chinese, green
36. We had a party last month. and it was a lot of fun, so let’s have ____ one this month.
~Q) another .B) the other C) more D) other
f.‘ Jane and John still remember that it was their parents, ’vﬁo encouraged them to

continue their education.
A) those ,B)/ they C) who D) whom

38. It has been rather costly to install the machinery, but it will prove to be worth the money

A) in the long run  B) at long last ) in conclusion D) at the end
39. When __ Scientists first suggested the possibility that one person should speak directly over a long
distance, few people took them seriously.
A) imaginable B) imaginative C) imaginary D) imagination
40. What's troubling thembi:; ___ enough machine tools.
A) their not to have B) them to not have

C) their not having D) not their having
S
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41, You Ann in the library vesterday, She has been out of town {or two weeks,
A n(:dr_n have seen I must have seen
() might have seen 1) can’t have seen
12, We preferred to put the meeting of [ rather than it without adequate preparation,
2\ hold B) held ) to hold D) holding
13. The students in the dormitories were prohibited. unless they had special passes.  after 11:00 PM,
A) staying out 1) rom staying out () stay out [ to stay out
oo the international conference is certain.
A He attends B) Will he artend
() He will attend IV That he will attend
15, Through learning. man is able to build his basic abilities into new and more <kills,
A) confined B) complex ) confused 1)) complicated
18, In the dark it was hard for us 1o the numbers on the houses,
A) make for B) make out () make sure 1)) make up
i7. 1t is recommended that the project ____ unitif all the preparations have been made,
A) is not started B) not be started
) will not be started T)) is not to be started
8. No sooner had we reached the top of the mountain —we all sat down to rest,
A) when B) then &_) than D) until
@)/ The captain of the ship ___ the passengers that there was no danger.
_\/ assured B) ensured 2 insured 13) assumed

.o v .
50. The higher the standard of living and the greater the national wealth. the o
Ay greater is the amount of paper is used g_) greater amount of paper is used

) amount of paper is used is greater V greater the amount of paper used

Part [ Reading Comprehension (35 minutes)

Directions: There are 1 passages in this part. Each passage is followed by some questions or un finished

statements, For each of them there are four choices marked A). B), ) and D). You should decide on the
best choice and mark the corresponding letter on the Answer Sheet with a single line
Passage One

Questions 51 to 55 are based on the following passage.

To call someone bird-brained in English means you think that person is silly or

through the centre,

stupid. But will this
description soon disappear from use in the light of recent rescarch? Tt secms the English may h
' assoctating birds” brains with stupidity,

ave been unfair

In an attempt to lind out how different creatures see the world, psychologists
USA have been comparing the behaviour of birds and human beings. One e
pigeons o recognize letters of the English alphabet. The birds study in

equipped with a computer., After about {our days of studying a particular le

at Brown University in the
xperiment has involved teaching
“classrooms”, which are boxes
tter, the pigeon has to pick out that
letter from several displayed on the computer screen, Three male pigeons have le

arnt to distinguish all twenty-
six letters of the alphabet in this way.

A computer record of the birds' four-month study period has shown surprising similarities between the
pigeons” and human performance, Pigeons and people {ind the same letters easy, or hard. to tell apart, For
examples 92 percent of the time the pigeons could tell the letter D from the letter Z. But when faced with 8}
and V (often confused by English children), the pigeons were right only 34 percent of the time.

The results of the experiments so far have led psychologists 1o conel

ude that pigeons and human beings
observe things in similar ways,

This suggests that there is something fundamental about the recognition
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process, If scientists could only discover just what this recognition process is, it could be very useful for
computer designers. The disadvantage of a present-day computer is that it can only do what a human being has
programmed it to do, and the programmer must give the computer precise. logical instructions. Maybe in the
future. though, computers will be able to think like human beings.

51. The writer suggests that the expression “bird-brained” might be out of use soon becausc 1t is

/,\ A silly B) impolite C) unnecessary 2) inappropriate
2 Psychologists have been experimenting with pigeons to {ind out whether the birds
) are really silly or stupid T
B) sce the world as human beings do
() can learn to make ideas known to people g
D) learn more quickly than children -
53. U and V are confused by é‘
/i,) many English children By 92 percent of pigeons :
) most people learning English ) 34 percent of English children

54. There are similarities in observing things by pigeons and human beings
A) because pigeons are taught by humans 5
B) because pigeons have brains more developed than other birds
C) because pigeons and humans have similar brains
1) because their basic ways to know the world are the same

55. The research may help

A) teachers B) computer salesmen
) psychologists .D) computer designers
Passage Two

Questions 56 to 60 are based on the following passage:

The first area outside the United States to which settlers moved in substantial numbers was the province
now called Texas, By 1830 eastern Texas had been occupied by nearly 20,000 whites and 1,000 black slaves
from the United States.

Many westerners had been disappointed when the U.S. government, in the Florida purchase treaty of
1819, accepted the Sabine River as the southwestern boundary of the United States. By doiné:(;, th<;~Udnited
States surrendered whatever vague claim it had to Texas as part of the Louisiana Purchase. After winning
independence from Spain in 1822, Mexico twice rejected American offers to buy this sparsely settled provinces
but during the 1820s she welcomed law-abiding American immigrants, .

The first and most successful promoter of American settlement in Mexico was Stephen F. Austin, who
obtained a huge land grant from the Mexican government and established a flourishing colony on the banks of
the Brazos River. Most of the immigrants were yeoman farmers and small slaveholders {rom the southern
United States who were attracted by the rich lands suitable for cotton growing and available for a few cents an
acre,

56. What is the subject of this passage?

A) The initial settlement of Texas.

B) The geographic features of Texas.

() The impact of treaties on Texas in the 1800s,

D) The influence of Mexico on settlement in Texas,

. Tt can be inferred from the passage that

(@3]
-~

A) Texas was not always a part of the United States
B) Mexico contemplated buying the province of Texas

C) Texas was attractive to slaves who sought freedom
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D) Mexico was interested in becoming part of the United States
58. Stephen F. Austin did all of the following EXCEPT |

A) secure land from Mexico

\B_Z'ncgotiate the Louisiana Purchase

(©) encourage newcomers to settle in Texas

D) establish a colony on the banks of the Brazos River
59. In 1822 all of the following were true EXCEPT |

A) Mexico is independent )

B) Texas was heavily populated

() the Louisiana Purchase had been negotiated

) Mexico had already twice refused U, 8. offers to buy Texas
60. Tt can be inferred that Texas farmland is suitable for

*A) raising cattle B) {ood production
) textile production D) production of raw materials for clothing

Passage Three
Questions 61 to 65 are based on the following passage.
Normally a student must attend a certain number of courses in order to graduate, and each course which

he atiends gives him a credit which he may count towards a degree. In many American universities the total

work for a degree consists of thirtysix courses each lasting for one semester. A typical courde consist%jof three
classes per week for fifteen wecks; while attending a university a student will probably attend %fjr or five
courses during each semester. Normally a student would expect to take four years attending two semesters
each year, It is possible to spread to period of work for the degree over a longer period. It is also possible for
a student to move between one university and another during his degree course, though this is not in fact done
as a regular practice,

For every course that he follows a student is given a grade, which is recorded, and the record is available
for the student to show w0 prospective employers. All this ir_r_l_gg_ses a constant pressure and strain of work, but
in spite of this some students still find time for great activity in student affairs. Elections to positions in
student organizations arouse much enthusiasm. The effective work of maintaining discipline is usually
performed by students who advise the academic authorities. Any student who is-thought to have broken the
rules, for example, by cheating has to appear before a student court. With the enormous numbers of students,
the operation of the system does involve a certain amount of activity. A student who has held one of these
positions of authority is much respected and it will be of benefit to him later in his career,

61, Normally a student would at least attend classes each week,

A) 36 B) 12 O 20 Dy 15
62. According to the first Eragraph an American student is allowed

A) to live in a different university

B) to take a particular course in a different university
C) to live 2t home and drive to classes
D) to get two degrees from two different universities
. American university students are usually under pressure of work because
A their academic performance will affect their future careers
B) they are heavily involved in student affairs
) they have to observe university discipline
D)) they want to run for positions of authority
64, Some students are enthusiastic for positions in student organisations probably because
A) they hate the constant pressure and strain of their study
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B) they will then be able to stay longer in the university
() such positions help them get better jobs
D) such positions are usually well paid
65, The student organisations seem to be effective in
A) dealing with the academic affairs of the university
B) ensuring that the students observe university regulations
() evaluating students’ performance by bringing them before a court
D) keeping up the students” enthusiasm for social activities
Passage Four
Questions 66 to 70 are based on the following passage:
Do you find getting up in the morning so difficult that it’s painful? This might be called laziness. but Dr.

Kleitman has a new explanation. He has proved that everyone has a daily energy cycle.
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During the hours when you labour through your work you may say that you're “hot”. That's true. The

time of day when you feel most energetic is when your cycle of body temperature is at its peak. For some

people the peak comes during the forencon. For others it comes in the afternoon or evening. No one has
discovered why this is s0, but it leads to such familiar monologuesC & H i) as:"Get up, John! You’ll be 7
late for work again!” The possible explanation to the trouble is that John is at his temperature-and-energy peak

in the evening. Much family quarrelling ends when husbands and wives realize what these energy cycles mean,

and which cycle each member of the family has,

You can't change your energy cycle, but you can learn to make your life fit it better. Habit can help, Dr.
Kleitman believes. Maybe you're sleepy in the evening but feel you must stay up late anyway. Counteract (3F
$i) your cycle to some extent by habitually staying up later than you want to. If your energy is low in the
morning but you have an important job to do early in the day. rise before your usual hour. This won’t change
your cycle. but you’ll get up steam and work better at your low point.

Get off 10 a slow start which saves your energy. Get up with a leisurely yawn and stretch. Sit on the edge
of the bed a minute before putting your feet on the floor. Avoid the troublesome search for clean clothes by
laying them out the night before. When ever possible, do routine work in the afternoon and save tasks
requiring more energy or concentration for your sharper hours,

66. I a person finds getting up early a problem, most probably

A) he is a lazy person

B) he refuses to follow his own energy cycle

() he is not sure when his energy is low

D) he is at his peak in the afternoon or evening
67. Which of the following may lead to family quarrels according to the passage?

A) Unawareness of energy cycles.

B) Familiar monologues.

() A change in a family member’s energy cycle,

D) Attempts to control the energy cycle of other family members.

68. If one wants to work more efficiently at his low point in the morning, he should

A) change his energy cycle B) overcome his laziness
() get up earlier than usual D) go to bed earlier

9. You are advised to rise with a yawn and stretch because it will
A) help to keep your energy for the day’s work
B) help you to control your temper early in the day
() enable you to concentrate on your routine work

D) keep your energy cycle under control all day
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70. Which of the following statements is NOT TRUE?

A) Getting off to work with a minimum effort helps save one’s energy.

13 Dr. Kleitman explains why people reach their peaks at different hours of day.

O Habit helps one adapt to his own energy cycle,

1)) Children have energy eycles. oo,
Part IV Cloze (15 minutes)
Directions: There are 20 blanks in the following passage. For each blank there are four choices marked A),
BY. O and Dy, You should choose the ONE that best fits into the passage. Then mark the corresponding

letter on the Answer Sheet with « single line through the centre,

when jazz was born. America had no prominent 72

Music comes in many forms; most countries have a style of their own. 71

73 or by whom, But it began to be

music. In contrast to classical music, which
form. Tt bubbles with energy, 77

~ 78 like America. And
81 _

the Southern states

When o Negro died his friends and relatives
Orleans, « band often accompanied the

music suited to the occasion. 87

in the early 1900s, Jazz is America’s contribution to
76

the moods, interests, and emotions of the people. In the 1920s jazz

79 it does today. The 80

slaves. They were sold to plantation owners and forced to work long
85
_ 86 . On the way to the cemetery the band played slow, sgle/mﬁn
th%mood changed. Spirits lifted. Death had removed
music, im provising (B3
at the funeral. This music made everyone want to

dance, It was an early form of jazz.

on the way hom

one of their 88 , but the liviﬁ\é @ere glad to be alivf:k"rhe band played 89
) on both the harmony and the melody of the tunes 90

he B

. American Negroes, or blacks. as they are called today, were the jazz 82

of its own, No one knows exactly when jazz was
=l Y . . .
formal European traditions, jazz is spontaneous and free-

of this music are as interesting as the music

a procession to carry the body to the cemetery. In New

1. A Av B) In O By D) On
72. A) music B) song C) melody D) style
a4 ——

73, A) discovered B) acted C) designed D) invented

74, A) noticed B) found O listened 6-) heard

;'7‘7/)/f\) classieal B) sacred g) light —6_) popular

76, A) formse. B) follows C) approaches D) introduces

77. &)’véxpressing B) explaining C) exposing D) illustrating

78. ) appeared B) felt () sounded D) seemed

9. A so B) as C) either D) neither

@. 3\-) originals _Ii) origins C) discoveries D) resources

81. A) concerned B) itself C) available D) oneself

82, A) players B) followers () pioneers ) fans

83. N\ for B) by awith % as

8:1. A) months B) weeks C) hours B; times

@ A) demonstrated B) composed Q formed D) hosted

86, A) demonstration }2 procession C) body Y)S march

37. ) Even B) Therefore Q) But D) Furthermore
¢ A) number .B'%/members C) body D) relations

39. A sad B) solemn O funeral D) happy

9. ) whistled B) sung Q showed Epresemed

the turn of the century

. They were brought to
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Part V Writing (30 minutes)
Directions: For this part s you are allowed 30 minutes fo write a composition in three puragraphs. You are
given the [irst sentence of each paragraph. Your part of the composition should be at leasi 120 words. not
including the words given. Remember to write clearly.

Importance of Education
1. The prosperity of a nation depends on the development of education,

2. Education is vital to the development of an individual as it is to that of a nation,

3. Yet, some people are still ignorant of its importance,

Part ] Listening Comprehension 9
1. D 2.D 3.B 4. B 5.B 6. A 7. B 8. B 9. A 10. D

11. B 12. C 13. B 14. D 15. C 16. C 17. C 18. D 19. B 20. B

Part [ Vocabulary and Structure

21. C 22. C 23. C 24. A 25. D 26. D 27. D 28. 29. A 30. A

31. A 32. A 33. C 34.D 35. C 36. A 37. 38. A 39. B 40. C

41. D 42. A 43. B 44. D 45. D 46. B 47. B 48. C 49. A 50. D

Part [l Reading Comprehendion

51. D 52. B 53. A 54. D 55. D 56. A 57. A 58. B 59. B 60. D

61. B 62. B 63. A 64. C 65. B 66. D 67. A 68. C 69. A 70. B

Part IV Cloze

71. A 72. D 73. D 74. 75. D 76. B 77. 78. C 79. A 80.
81. B 82. C 83. D 84. C 85. C 86. B 87. C 88. A 89. D 9. D
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Part | T_a_Es'cLigt of Listening Comprehension

Section A

Example: Man; Is it possible for you to work late, Miss Grey?
Woman; Work late? I suppose so, if you really think it’s necessary.
Question; Where do you think this conversation most probably took placex

. Will you take biology next semester? 4

; I've bJadenva science courses.

. What does the man mean?

. The chicken dish is really spicy.

: What does the woman mean?

. What time did yesterday’s basketball game start?

; Tt was supposed to start at a quarter to 7, but it was delayed an hour.

. When did the game finally start?

: Did you go to the big sale at Spencer’s yesterday?

Z0=sZ2PE=ZPLEXE
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: T had to visit my aunt in the hospital.
What does the man mean?
. I am going to the zoo 10 make some M{s(i‘?’ﬁ) of elephants today.
: May 1 go with you? I have the same assignment.
What do we know about the man and the woman from this conversation?
: Has Cynthia been working hard on her term paper?
: Day in snd day o (KA.
What does the woman say about Cynthia?
: Can you please tell me where I'd find gym shoes?
: Yes, they'd be in the sportswear department at the back of the store,
What is the man doing?
: I would really like to know why Donna is always so hostile toward me,

+ Did you ever think of just coming right out and asking her?

: What does the man suggest that the woman do?

EDZEPEZ2LEZXLEZDE

: While the children are at the movie. 1 think T'll drop into Drake’s Department Store and M"VIS
: Good idea, While you're there, will you pick up a couple of white shirts for me? And I need some
cigarettes, too,

<

: What is the woman going to buy for herself?

10. M: What will you do with your cat when you leave for vacation?

: I'm having Ken take care of it.

: What will happen to the woman’s cat?
Section B
Passage One

D220

Although T think the United States generally has an exceljent system of transportation, 1 do not think that
it does a good job of transporting people between cities that are only a few hundred miles apart,

A person
commuting between Detroit and Chicago or hetween San Francisco and Los Angeles, so-called *

“strip cities”,
may spend only a relatively short time in the air while spending several hours getting to and from the alrport,
This situation makes flying almost as time-consuming as driving. Moreover, airplanes use a lot of their fuel

wto the air, They simply are not Tuel-efficient on short trips. High-

speed trains may be an answer.
wery new proposal for such a train is for something called “Maglev”, meaning a magnetically (5 84 5
LA R L 20MCRUNg catled  viaglev

) levitated train. Maglevs will not actually ride on the tracks but will (12) fly above the tracks that are
magnetically activated. This will (13)save wear and tear(#{3£) on the tracks. These trains will be able to go
RIS EAC tRar dire ) on the tracks

[aster than 150 miles per hour. At that speed, conventional trains have trouble staying on the tracks. As you

can see, Maglevs (11)offer exciting possibilities in the future.

11, What is the main topic of the talk?
12. How does a Maglev operate?

13. According to the speaker, what is one advantage of the Maglevs?
Passage Two

Attention, please, ladies and gentlemen, Our bus is approaching Cambridge,

Massachusetts, where we'll
be stopping to eat. We'll have lunch in a garden restaurant overlooking

a small park that has a very interesting
(1 history, This park commemorates a tree, (14)a very famous tree,
LUINIG Y LTy Jamous tree

George Washington took command of the Continental Army in 1775 under
hundred ve

because legend has it that General

its very branches. It was almost a

ars later in 1864 that the city of Cambridge placed the placard(fi45 ) on the tree to celebrato the

And at that moment, the tree was called the Washington Elm. In due time, the
tree gradually succumbed to attacks of insects

event that made it famous.

and lost much of its beauty. It was finally destroyed in a storm



